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4. Algorithm design and problem-solving
Question 1:
[image: A table of numbers and a number

Description automatically generated with medium confidence]
Question 2:
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438 3 13
6.1 4 1.0

71 5 25
9.6 6 20
11.6 7 13
12.9 8 18
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marking points:

loop construct 1 mark
check if number is an integer 1 mark
counting the number of integers input 1 mark
output count value (outside the loop) 1 mark

sample algorithm:

FOR x « 1 TO 1000 (1 mark)
INPUT Number
Difference « INT (number) - Number (1 mark)

IF Difference = 0 THEN Total « Total + 1 (1mark)
NEXT x
PRINT total (1 mark)
(NOTE: alternative to lines 3 and 4:
IF INT (Number) = Number THEN Total — Total + 1 (2 marks)) [4]
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